INTERNATIONAL INDIAN SCHOOL, RIYADH

Ac. Year 2008-2009
IX – XII SECTION

CLASS – XII
SUBJECT : ECONOMICS
-----------------------------------------------------------------------------------------------

SECTION – A

INTRODUCTORY MICRO ECONOMICS
SHORT – ANSWER QUESTIONS- 1 MARK  EACH

1. Define  Marginal cost

2. What causes a  mouement along a supply curve?

3. Why does average fixed cost fall as output rises?

4. What is meant by equilibrium price?

5. Define variable cost?

6. The price elasticity of supply of a commodity is 1.2. Is its supply elastic or inelastic and why?

7. Define Total Revenue?

8. Define Consumer’s equilibrium.

9. What cause a downward movement along a supply curve?

10. What is the price Elasticity of  a straight line supply curve touching the oy-axis?

11. State one characteristic of a perfectly competitive market?

12. Give two examples of micro Economic Studies

13. Define Marginal opportunity cost?

14. Why is a production possibility curve concave?

15. State two characteristics of resources which give rise to an economic problem.
SHORT – ANSWER QUESTIONS- 3 MARKS EACH

1. State three main features of monopolistic competition . Describe any one.

2. What changes should take place in total revenue. Sothat (a) marginal revenue is positive and constant and (b) marginal revenue is falling ?

3. Give three reasons for an ‘increase’ in supply of a commodity.

4. Define market demand . State the law of demand and assumption behind it.

5. State three main features of monopolistic competition.

6. What is the relationship between marginal cost and average cost?

7. When is a good called (a) normal good and (b) an inferior good?

8. State any three causes of a decrease in supply of a commodity.

9. State any three causes of a shift in demand curve.

10. Define producer’s Equilibrium. State its conditions.

11. Give the meaning of perfectly elastic demand and perfectly inelastic demand of a commodity.

12. What is meant by returns to a factor? State the reasons for diminishing returns to a factor?

13. Explain the effect of ‘ Input price changes’ on the supply of a good.

14. Explain the relation between marginal revenue and average revenue.

15. Draw Average Total Cost, Average Variable cost and Marginal cost curves in a single diagram.

SHORT – ANSWER QUESTIONS : 4 MARKS EACH

1. Total fixed cost is 50. Calculate AVC and MC

Output :  

1

2

3

4

Total Cost :

150

240

350

470

2. Explain with the help of a  diagram the geometric method of a measuring price Elasticity of demand.

3. Explain the total expenditure method of measuring price elasticity of demand.

4. Due to a 15 percent rise in price of a commodity its quantity supplied rises from 1000 units to 1120 units. Calculate its price Elasticity of supply. Is its supply elastic?

5. Explain the  problem of what to produce with the help of a production possibility curve.

6. Find TR and MR.

Price : 

8

7

6

5

Output :

1

2

3

4

7. Price of  a commodity is Rs 50 percent and its quantity supplied is1000 units. Its price raised by 10 percent and quantity supplied rises by 90 units. Calculate  its price Electricity of supply. Is its supply elastic . Give  reasons to your answer.

8. Define Price Electricity of demand. Explain any three factors that affect it.

9. Distinguish between ‘ Change in demanded’ and change in quantity demanded. ( use Diagram )

10. Explain the problem of ‘ For whom to Produce’ with the help of an example.

11. Explain the problem of ‘ How to produce with the help of production possibility curve.

12. Why does an economic problem arise? Explain the problem ‘ For whom to produce’

13. The Elasticity of supply of a commodity is 3. An increase in its price from Rs. 20 to Rs.21 Per unit results in a rise in its quantity supplied by 150 units. Calculate its quantity supplied at increased price.

14. Why is the average revenue curve of a monopolist less  elastic than the average revenue curve under monopolistic competition. Explain.

15. Explain the relationship between Total  Revenue and Marginal revenue.

16. How is the equilibrium price of a good determined? Explain with the help of  a diagram on a situation when both demand and supply curves shift to the right but equilibrium price remains the same.

17. Total fixed cost is Rs 15 .Calculate TC and MC

Output : 1

2

3

4

TVC:
   10

19

29

40

18. Give meanings of  i. marginal physical product

 ii. Fixed cost       iii. Variable cost       iv. Total revenue

19. Price of a good rises from Rs. 10 per unit to Rs 11per unit. As result quantity demanded of that good falls by 10 percent . Calculate its Price Elasticity of demand.

20. A consumer buys 70 units of a good at a Price of Rs.7 per unit. When price falls to Rs6 per unit. He buys 90 units. Use total expenditure method to find whether the demand for good is elastic or unelastic.

LONG – ANSWER QUESTIONS: 6 MARKS EACH

1. Distinguish between returns to a factor and returns to scale. Explain the reasons for increasing returns to scale.

2. Explain with the help of diagrams the effect of the following changes on the demand of a commodity.

i) A fall in price of substitute good. 

ii. ) A favourable change in the taste of the buyer.

3. Explain with the help of diagrams the effect of a leftward shift of  supply curve of a commodity on its equilibrium price and quantity.

4. At a given price of a commodity , there is excess supply. What changes will establish equilibrium price? Explain with the help of a diagram?

5. How will a decrease in the demand of a commodity affect its equilibrium price and equilibrium quantity? Explain with the help of a numerical example.

6. How many units of a commodity should a consumer buy to get maximum utility from it. Explain with the help of a numerical example?

7. Explain any three causes of a shift of demand curve to tue Left.

8. Explain the law of variable proportion with the help of total and marginal physical product schedule.

9. What will be the effect of the following on the demand of a commodity?

i. A fall in the income of its buyers.

ii. A change in the price of its substitute good.

iii. A change in the price of its complementary good.

10. Explain the process of price determination under perfect competition with  the  help of a schedule and diagram.

11. When will (a).Simultaneous increase and (b). Simultaneous  decrease in both demand and supply not affect the equilibrium price? Explain with the help of diagrams?

12. Explain the effects of an increase in supply of a commodity on its equilibrium price and equilibrium quantity.

13. Why must the quantity demanded  and quantity supplied or a commodity be equal at its equilibrium price? Explain.

14. Given below is the cost schedule of a firm. Calculate its total cost and average variable cost at each given level of output.

Output : 
1

2

3

4

5

6

AFC (Rs.) 
30

15

10

7.5

6

5

Marginal Cost
9

7

5

7

12
        14

15. Distinguish between ‘ returns to a factor ‘ and returns to scale. Explain briefly returns to scale by giving numerical examples.

16. Explain briefly three features of monopolistic competition.

17. Explain the features of Monopoly.

18. Explain the term ‘change in demand’ and represent the same graphically . Also state three factors responsible for ‘ change in demand’.

SECTION – B
INTRODUCTORY MACRO ECONOMICS
VERY SHORT ANSWER QUESTIONS: 1 MARK EACH.

1. Give two examples of macro economic study.

2. What is meant by appreciation of  currency?

3. Give two examples of micro economic study.

4. Define money supply.

5. What is balance of payments account?

6. Give two  examples of non-tax revenue receipts.

7. Is the study of general price level  a macro economic study?

8. What is meant by micro economics?

9. Define a tax.

10. Balance of trade shows a deficit of Rs. 5000 crs. Value of exports is Rs. 4000 crs. Find out the value of imports.

11. Define macro economics.

12. What is balance of trade?

13. Give meaning of balance of payments

14. What is macro Economics?

SHORT ANSWER QUESTIONS: 3 MARK EACH

1. From the following data about a firm ‘A’ calculate gross value added at factor cost by it:

(Rs in thousands)

i. 
sales






400

ii.
change in stock



      (―)20

iii.
purchase of machinery 


200

Ans = 270 Cr.

iv. Depreciation




30

v.
Subsidies





40

vi. Purchase of intermediates Products
150

2. State any three objectives of government budget. Describe any one of them.

3. Explain the meaning of deflationary gap with the help of a diagram
4. Complete the following table:
Income

consumption

mpc


mps

400


400



_


_

500


500



_


_

600


590



_


_

700


670



_


_

    5. In an economy investment is increased by Rs.750 crs. If mpc is .9 calculate the total increase in income and consumption expenditure.

6.Calculate Gross Nationa Disposable Income from the following data: 

i. National Income




  800

ii. Net indirect – tax




  100

iii. Net factor income from abroad


   30

iv. Net current transfers from ROW

   50

v. Consumption of fired capital


   70
Ans : 950 crs.
7. Distinguish between average propensity to consume and marginal propensity to consume with the help of numerical examples.

8. State any three methods by which central bank tries to control the quantity of credit.

9. Distinguish between average propensity to consume and marginal propensity to consume. Can the value of Apc be greater than one? Give reasons for your answer.

10. From the following data, calculate “ Gross value added at factor cost”;









( Rs. In lakhs)


i. Sales 






500


ii. Change in Stock




30


iii. Subsidies





40


iv Consumption of fixed capital 


60


v. Purchase of intermediate products

350


vi. Profits






70
Ans : 220crs.
11. State any three objectives of Governmentbudget.

12. What is meant by inflationary gap? State two measures to correct it.

13. Distinguish between ‘visible trade’ and ‘invisible trade’ in balance of payments, Give one example of each.
14. Give meanings of


i. cash reserve ratio

ii. bank rate and

iii. open marked operation.

     15. In an economy. MPS is 0.2 . Investment increases by Rs. 100Crs.   Calculate total increase in  national income.

    16. Calculate personal Disposable income from the following data:
         









( Rs. In crores)

i. Personal taxes








60

ii. Net national Product at factor cost accruing to the
         private sector







600

iii. Undistributed profits





            10

iv. National Debt interest






  50

v. Corporation tax







-100

vi. Net current transfers from Row 




(-)20

vii. Current transfers from government




30

Ans : 490 crs
SHORT ANSWER QUESTIONS: 4 MARKS EACH

1. State any four main functions of a commercial bank. Describe any one.

2. Distinguish between revenue receipts and capital receipts in a government budget . Give two examples of each.

3. Explain the meaning and implications of revenue deficit in a government budget.

4. What is meant by foreign Exchange rate?List three sources of each of demand and supply of foreign exchange in a country.

5. What is meant by balance of payments account? Name three components each of its current account and capital account

6. State the four functions of money. Describe any one of them.

7. what is the basis of classifying government expenditure in to :

a. Plan expenditure and Non – plan Expenditure.

b. Revenue expenditure and capital Expenditure.

8. Briefly explain how a central bank can control  credit creation by commercial banks through open market operations.

9. Explain how foreign Exchange rate is determined in a foreign Exchange market.

10.  Distinguish between current account and capital account of balance of payments account. Mention two items of each these accounts.

11. Why is the supply curve of foreign exchange positively sloped? Explain.

12.  Explain the role of central bank as a banker to the government.

13.  Distinguish between a commercial bank and a central bank.

14.  Explain the ‘unit value’ function of money.

15.  Give reasons, categorise the following into direct tax and indirect tax: i). Corporation tax ii). Sales tax  iii). Wealth tax  iv). Service tax

16.  Explain the ‘banker’s bank and supervisor’ function of the central bank.

17. Distinguish between  direct tax and indirect tax. Give two examples of each.

18. Distinguish between 

i. Tax and non-tax revenues

ii. Developmental and nondevelopmental expenditures.

19. What is barter? State inconveniences of barter system.

20. What is money? Explain the ‘store of value’ function of money.

LONG ANSWER QUESTIONS: 6 MARK EACH

1. From the following data calculate National Income by (a).Income method (b). Expenditure method
    ( Rs. In crores)
i. Government final consumption expenditure method
1000

ii. Profits








700

iii. Net indirect tax






  
110

iv. Private final consumption Expenditure


1500

v. Net Exports







(-)20

vi. Compensation of Employees




1200

vii. Rent








200

viii. Interest 








270

ix. Net factor income from abroad




30

x. Mixed income of self employed




600

xi. Gross Domestic capital formation



700

xii. Net domestic capital formation




600
Ans : 3000 crs.
2. Will the following be included in National Income of India? Give reasons for your answer.

i. Financial help given to flood victims.

ii. Profits earned by an Indian Bank from its branches abroad.

iii. Interest received by an Individual from banks.

iv. Salaries paid to non-resident Indians working in Indian Embassy in America.

3. Explain with the help of a diagram and using saving – investment approach the determination of equilibrium output and Income level  in an economy. What happens when the economy is not in equilibrium and saving exceeds investment?

4. Explain with the help of diagrams the situations of (a) under employment equilibrium and (b) Excess demand in an economy.

5. Explain income method of estimating domestic factor income. Also explain any three precautions that should be taken while using this method.

6. From the following data, calculate (a)national income and (b) personal disposable income.

                                                                                          (Rs in . crores)
i. Private final consumption expenditure 


2000

ii. Private income






3000

iii. Government final consumption expenditure

1000

iv. Corporation tax






400

v.  Consumption of fixed capital




200

vi. Gross domestic capital formation



650

vii. Change in stock






(-)50

viii. Net exports







(-)40

ix. Net factor income from abroad




(-)30

x. Net indirect taxes






150

xi. Net retained earnings of private enterprises

40

xii. Direct taxes paid by households



200

Ans : (a) 3230 (b) 2360
7. In an economy , planned savings are less than planned investment, what changes will take place in the economy that will bring about equality between the two?

8. Explain the working of investment multiplies with the help of a numerical example.

9. Will the following be included is the national income of a country? Give reasons for your answer.

i. School fees paid by students

ii. Purchase of new shares of a domestic firm.

iii. Gifts received from abroad.

iv. Furniture purchased by households.

10. Calculate (a) Private income and (b) Personal disposable income from the following data   

data.                                                                                     (Rs. In crs)

      
i. Saving of private corporate sectar




500


ii. Current transfers from rest of the world



60


iii. Corporation tax







80

iv .Current transfers from government administrative 

departments








170


v. Direct personal taxes






150


vi. Income from domestic product accruing to private sector
4500


vii.Savings of non-departmental public enterprises


250


viii.Net factor income from abroad




(-)30


ix. Net exports








(-)50
Ans : 3970
11. From the following data calculate national income by (a) income method and (b) Expenditure method:
( Rs. in crs)
i.  Government final consumption Expenditure


1000

ii.  Interest








350

iii.  Rent 








300

iv. Mixed income of self employed




600

v. Employer’s contribution to social security schemes

100

vi. Compensation of employees





3000

vii. Net domestic capital formation 




650

viii. Net exports







(-)100

ix. Net factor income from abroad




(-)50

x. Net indirect tax







500

xi. Private final consumption Expenditure



4000

xii. Consumption of fixed capital




80

xiii. Change in stock







50

xiv. Profits








800
Ans : 5000
12. Why must planned savings of households must be equal to planned investment of firms at the equilibrium level of income and output? Explain.
13. Explain the income method of estimating national income.

14. Explain the distinction between ‘domestic product’ and ‘ national product’ on the basis of concepts of resident and domestic territory.

15. Explain determination of equilibrium level of income trough the saving. Investment approach. Use Diagram. What changes will take place when the economy is not in equilibrium. Explain

16. Calculate ‘National income’ and ‘Net national disposable income’ from the following data.
( Rs. in crs)
i. Current transfers from government



35

ii. Private final consumption expenditure



500

iii. Net current transfers from rest of the world


(-)10

iv. Government final consumption expenditure


150

v. Net factor income from abroad




(-)20

vi. Net domestic capital formation




100

vii. Net indirect taxes






120

viii. Net exports







50
Ans : (a) 660 (b) 770
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